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THREE YEAR B.Sc. (CBCS) DEGREE (Regular/Supplementary) EXAMINATION
OCTOBER/NOVEMBER 2018.

FIRST SEMESTER
Part II — Electronics
Paper I — BASIC CIRCUIT THEORY

(2016, 2017 a_nd 2018 Admitted Candidates)
Time : 3 Hours ‘ ; Max. Marks

SECTION - A
ariihos — 3

Answer any FIVE questions.

Each question carries 5 marks.
DD D ($H)0% BRTEEHE) FEO8D.
DB (5% 5 Doe8o),e0.

(Marks : 5 x 5 marks = 25 marks)

1.  Distinguish the differences between A.C. and D.C.
A.C 208050 D.C.o 08 BGren [EP0L0H0.

2.  Explain the basic response of Inductor with a neat circuit.

2.5 5,0 $0050 SFADOE’ (DH8es By, P08 F)0ED Benod.

3. Explain the combination of resistor in series and parallel network.

DB Brk), Bed DB SHT0BE De5IE) O K78 9580B0D0.

4. State and prove Reciprocity theorem.

BIDE VELoBHD PYGHOD, DBV

5.  State and prove Millman’s theorem.

Millman’s 9.0%"0@.‘9;’1»:60 DEGD0D, DEI°0WOD.

6. Explain the frequency response of RC as a high pass filter.
RC 005500 Baod); Fo:dg ot ey Soves dgod 9580%06.
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10.

11.

12.

13.

14.

State and explain Kirchhoff's laws.

80°),® @R DEED0D, HIBoDoE.

Derive the resonance frequency, for LCR series circuit.

LCR @3 H00506° @90m°e 27989590050 9580:900.

SECTION - B
eI - D

Answer ALL questions.

Each question carries 10 marks.
©Q) [08)05 ARIPTRDV) [EPASV[.
2D 585 10 Joe8),e0.
(Marks : 5 x 10 marks = 50 marks)
Derive an expression for the average and R.M.S. value of an A.C. signal.
A.C. So885008% S0°56 508050 R.M.S. 2evd0 285200 T8 Hhr88eros T80
Or |

Define current and voltage. Explain the frequency response of resistor with a neat circuit
diagram. ’ ‘

£306 20805 S'GLoH> DYgHoD0E. DE DN GBoog); w9sHIg QOSI 2.8 HER JedbHw w0
9580H0&. |

Explain the Node Voltage Method analysis of electrical circuits.
263058 Hoa0S® Sk S°Ges Thes 538D 9560508,

Or

Explain about the combination of inductance in series and parallel circuits.

(282 GBoog); [Be3 0805 JI0BS HeAHW 80D HHBoBOIW.

State and prove Maximum Power Transfer theorem.

613, %8 2xt5eran0%) EroBRM DFDOD, DEIFHOBIRD.
Or

Stafe and prove Thevenin’s theorem.

IS ?owc;oémoéo DELD0D, DET*DOW[.
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15.

16.

17

18.

Explain the transient response of an RL circuit with step input.

RL $0a00 o), 670065 90550 3o saEEos’ 9580908.

Or

Discuss the frequency response of RC as high pass and low pass filters.

RC Je03050 (ﬁngb‘ P3N OB ) Eres DI S080 8 Eaves oD HE ook

Explain the parallel resoﬂant circuit and derive expression for its resonant frequency
SATOBY WD HOAHAVK IIB0B0E DB TR BTG DHEYPHVDL  HEGED
TP6QI0.

Or
Explain the terms selectivity and Q-factor, Bandwidth in LCR series circuit.

LCR {#€3 Soa0a06® selectivity 20800 Q-5°8550, 5¢3 dcen)odd d580305m0.
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